Question 15

The data for this question can be put on a number scale that can be considered “continuous.” That is, one can assume that if people had been given the chance to choose fractions of the whole numbers, that they would have done so.  Numbers like 1.2 and 2.8 have some meaning, because you can visualize a smooth continuum from “no problem” to “big problem.” You have just broken it up into whole-number categories for ease of collecting the information.  

I assigned NP = 1, SP = 2, MP = 3, and BP = 4.  I treated the “NA” choice as missing data.  There were also several instances of truly missing data, where respondents had left blanks.


The data for these questions are skewed (surprise!) but not quite as badly as some of the earlier questions.  The standard deviations (SD) are not completely unreasonable numbers.


Technically, Q, R, S and T were independent questions so you can’t talk about “significant difference” between them.  What you can do is look at whether any of the means are more than one standard deviation apart from any of the other means.  As it happens, none of them are.  Q is almost separate from T if you look at the SD for Q, but not if you look at the SD for T.  You could say that T appears to be of slightly more concern to organic farmers than Q, R, and S; but that variability in the data makes it unclear whether this is a true difference (plus the fact that the curves are skewed from normal impairs the accuracy of comparisons).
Q:  Immature markets (difficult to find buyers)


Mean:  1.6


SD :    0.8  

R:  Lack of price transparency


Mean:  1.7


SD:      0.8

S:  Lack of marketing knowledge/confidence


Mean:  1.7


SD:      0.8

T:  Competition from organic imports


Mean:  2.2


SD:      1.1

You could also look at the frequency data to make the case that T is truly of more concern than Q, R, and S.  Here are the frequency numbers:

Q: 
1 – 56.3%


2 -  30.0%

3 -   8.9%


4 -   4.7%

R:  
1 – 50.9%


2 – 31.7%


3 – 13.8%


4 -   3.6%

S:  
1 – 51.9%


2 – 32.3%


3 – 13.2%


4 -    2.6%

T: 
1 – 32.1%


2 – 26.7%


3 – 26.7%


4 – 14.4%

Looking at the frequency distributions combined with the means and standard deviations, I think you could feel justified in saying that your data suggest that T was of greater concern.  For Q, R, and S you have about 50% of respondents choosing “no problem” and about 30% choosing “slight problem.”  For T, you have about 30% choosing “no problem” and about 50% choosing either “slight” or “medium” problem.  

When you say “the data suggest …” then you’re pretty safe, because the data are suggestive but you aren’t claiming that this is solid fact.

